

(4) 加減混合Ⅱ … 「+」と「-」を省いて計算

(例) ① $(-3) + (+4) - (+8) - (-2)$

$\downarrow \quad \downarrow \quad \downarrow \quad \downarrow$
 $= (-3) + (+4) + (-8) + (+2)$
 $\downarrow \quad \downarrow \quad \downarrow \quad \downarrow$
 $= \underline{-3} \quad \underline{+4} \quad \underline{-8} \quad \underline{+2}$

$\underline{-3} \quad \underline{-8} \quad \underline{+4} \quad \underline{+2}$
 $\ominus \quad \quad \quad \oplus$
 $= -11 \quad +6$
 $= -5$

① () の前の「-」に注目!!
 ② 項だけの式にする

② $2 + (-9) - 7 - (-13)$

$\downarrow \quad \downarrow$
 $= \underline{2} + \underline{(-9)} - \underline{7} + \underline{(+13)}$
 $\downarrow \quad \downarrow \quad \downarrow \quad \downarrow$
 $= \underline{2} \quad \underline{-9} \quad \underline{-7} \quad \underline{+13}$

$\underline{2 + 13} \quad \underline{-9 - 7}$
 $\oplus \quad \quad \quad \ominus$
 $= 15 \quad -16$
 $= -1$

① () の前の「-」に注目!!
 ② 項だけの式にする

③ $\underline{-7} + \underline{3} - \underline{1} + \underline{12}$

$\underline{-7 - 1} + \underline{3 + 12}$
 $\ominus \quad \quad \oplus$

$= -8 + 15$

$= 7$

← 答えの「+」を省略!!